A2

The car is
Answer:

She has hair.
Answer:

He is and friendly.
Answer:

The movie was

Answer:

The weather is today.
Answer:

The book is
Answer:

He is in math.
Answer:

Sheis at playing the guitar.
Answer:

The cake tastes
Answer:

The shirt is
Answer:




The car is

Answer: expensive

She has hair.

Answer: long

He is and friendly.
Answer: kind

The movie was

Answer: exciting

The weather is today.

Answer: sunny

The book is

Answer: interesting

He is in math.

Answer: good

Answers

Sheis at playing the guitar.

Answer: talented

The cake tastes
Answer: delicious

The shirt is
Answer: colorful



